
FROM LUCKY TO PLUCKY

Retrouvez plus de quiz vidéo
sur www.vocable.fr

QUIZ

1.  The Prime Minister says 
the Australian economy ...
a) is taking a new direction.
b) depends on mining.
c) is growing fast.

2.  He thinks future growth 
will depend on ...
a) commodities.
b) research.
c) ideas.

3.  “We have unprecedented access 
to the global economy, … trade deals.”
a) a new three
b) two or three
c) through new free

4.  What does he say specifi cally about the world’s middle classes?
a) The market needs to be captured.
b) Many of them live in Australia’s part of the world.
c) They are starting to spend again.

5.  Which one of these does he not identify as an area that 
needs improvement?
a) the competitiveness of Australian corporations
b) relations between research and industry
c) the success rate of new SMEs

Answers : 1. a- 2. c - 3. c - 4. b - 5. a.
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